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1. il 1, 21 (E#RIT) (kN-m)
BERAKRE!] | EHRARENT
5] 8 WA Q = —Q > ~Q
AL {al B (F<HR) 16513 1.25 20641 1.00 16513
®IERE (RHA) 4154 1.25 5103 1.00 4154
| ERE (G 12538 1.75 21942 30 16299
2 )J—=T7(REA) 1153 1.20 1384 0
| ZRIE (&) 3056 1.20 3667 0
e (RE) 2794 1.20 3353 0
>rQ 40208 56179 36966
S4B IR 5EBE (SM490Y) Fy= 355,000 kN/m’
Sk 7HBE (A SR B (SD345) Fyr= 350,000 KN/m?
Y- OREETRAESE (528 8) fc'= 30 N/mm’
Y/ REER) Es= 2.00E+08 kN/m’
Yoo@&B@AY2U-R) Ec= 2.30E+07 kN/m’
YU %REt n=28 (). 24 (RHD)
AW oF - H= 80 mm
B(mm) X T (mm) A(m) P (kN)
U-Flg 670 X 21 0.0141 Pc= 5006
Web 2968 X 15 0. 0445 Pw= 15798
L-Fig 980 X 38 0.0372 Pt= 13206
Siab 5350 X 300 1.6050 Ps= 40928
Ph =Pc+Pw+Pt = 34,009 kN
Ps=0.85f ¢-Bs-Ts=0.85X 30,000 X 1.6050 = 40,928 kN
Ps L= 40,928 x DD~ 7,162 kN < P
hiMIERBRAICHY . RIRbY TO0S5OBNYIZLITELZS,
_ Ph _ ¢ 34,000 | _
Y=Ts( Ps )= 0.300 (—40,928 ) 0.249 m
dH= 1.505 + 0.380 — 0.249 = 1.636 m
Z’EEJE—)“/ZFMDIILJ.'F&U& )
— Yi-Ps ) 0.249 *x 7,162
Mp= =5+  Ph-dH 2% 0.300 + 34,009 X 1.636
= 56371 kN-m
(1) HERFIRE | DB
Mr=¢ Mp=1.0X 56371 = 56371 kN'm =7rQ= 56179 kN-m O0.K.
R RED R
Dp=Y= 0.249 m
ng 3.027 + 0.080 + 0.300 _ 4, > 0.249
-+ -__[:"n Ty
'.IP—O-P, C’bI = Y
‘—CP,,, b LPNA
T-'p,
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(2) SEFBRFIRAE | DIRE

2 — 125

SRR
B(mm) % T(mm) A(m®) Y (m) A-Y(m®) A Yi(m®)
U-Flg 670 X 21 0.014 1. 4945 0.02107 0.031489
Web 2968 X 15 0.045 0.032681
L-Flg 980 X 38 0.037 -1.5030 -0. 05591 0.084033
3 0.096 -0.03484 0. 148203
81 = SAy/ZA = -0.364 m
1 = SAY:-3A- 612 =  0.136 n'
Yul = 1.505 — -0.364 = 1.869 m
YIl = 1.522 + -0.364 = 1.158 m
BRE{REL : Sul = 0.136 / 1.869 = 7.25E407 mm’
BROOfREK : SI1 = 0.136 / 1.158 = 1.17E+08 mp’
B GEHATE)
B(mm) % T (mm) A(m®) Y (m) A-Y(n® A-YmY) 1o
C-Slab/8 5350 X 300 0. 201 1.7350 0. 34804 0.603849 0.001505
Gerder 0.096 -0. 3640 -0.03487 0. 148203
p3 0.296 0.31317 0.753557
62 = TAY/ZA = 1.057 m
12 = SAY:-TA- 622 = 0.422 pt
Yu2 = 1.505 — 1.057 = 0.448 nm
YI2 = 1.522 4+ 1.057 = 2.579 m
Yc2 = 0.448 + 0.380 = 0.828 m
BREREK : Su2 = 0.422 /  0.448 = 9.43E408 mn’
BREfRE : S12 = 0.422 /  2.579 = 1.64E408 pm’
BREN(RE: Sc2 = 0.422 /  0.828 n= 4.08E+09 pm’
A% (RIATE)

B(mm) * T(mm) A(m?) Y (m) A-Y(@m) A-YmY)  lo(m®)
C-Slab/24 5350 X 300 0.067 1.7350 0.11607 0.201381 0.000502
__Gerder 0. 096 -0. 3640 -0. 03484 0.148203

p3 0.163 0.08123 0.350086
63 = TAy/3A = 0.499 m
13 = SAy-3A- 63 = 0.310 pt
Yud = 1.505 — 0.499 = 1.006 m
YI3 = 1.522 + 0.499 = 2.021 m
Ye3 = 1.006 + 0.380 = 1.386 m
BREGRE: Sud =  0.310 / 1.006 = 3.08E+08 pmp’
BREOEREL : S13 = 0.310 /  2.021 = 1.53E408 mn’
BE{RE : Sc3 =  0.310 /  1.386 n= 5.36E409 pn’
:0E]4 %3t Li
_ 16513 4154 16299 _ 2 < _
U.FLG ou =i+ 3 oaesor 5 43402 = 259 N/mm® = 337 (=0.95Fy)
_ -16513 -4154 -16299 _ 2 _
L.FLG ol =vven i s3er02 T G4EI00 = 268 N/mm” = 337 (=0.95Fy)
CONCRETE  oc = heeras T oEN =48 N/mm’S< 255 (<0.85fc')



2. W@ 2, 20 (iEAAITF) (kN-m)

BEEPRATIARE | | EHRARE
fa -] HEAhQ = o) > ~Q
BISE (o (B HA) 22746 1.25 28433 1.00 22746
®IEwE (R 5892 1.25 7365 1.00 5892
G EEE) 18920 1.75 33110 1.30 24596
| U T (&HD) 1742 1.20 2090 0
IRIGE (R 3022 1.20 3626 0
REAE (R 2831 1.20 3397 0
>7rQ 55153 78022 53234
S04 B 1K 3R BE (SM490Y) Fy= 355,000 kN/m’
Sk 5% B X 38 BE (SD345) Fyr= 350,000 KkN/m’
9)-bDORREH R AR E (28 8H) fc'= 30 N/mm’
s % {C)) Es= 2.00E+08 kN/m’
YoU&yB@Y2U—-1N) Ec= 2. 30E+07 kN/m’
YU n= 8 (HEHA). 24 (KAHD)
BN TFE H= 80 mm
B(mm) X T (mm) A(m?) P (kN)
U-Fig 790 X 32 0.0253 Pc= "8982
Web 2968 X 15 0.0445 Pw= 15798
L-Flg 970 X 14 0.0718 Pt= 25489
Slab 5350 X 300 1.6050 Ps= 40928
Ph =Pc+Pw+Pt = 50,268 kN
Ps=0.85f c-Bs-Ts=0.85X 30,000 X 1.6050 = 40,928 kN
Crt 0. 0525
Ps—~—= 40,928 X oS- = 7,162 kN < Ph

RIMIIRBRAICHY ., KIRby THSOBNY BLTELS,

_ Ph \_ ¢ 50,268 _
Y=Ts(pe)= 0.300 - (greoe)= 0.368 m
dH= 1.516 + 0.380 — 0.368 = 1.528 m
?éﬁ%—%?thpliLthfiéo \
_ YPs o 0.368 x 7,162
Mp=1,-FS_+  Ph-dH 2 %5300+ 50,268 X 1.528
= 78407 KN-m

(1) HEBRFIRE | ORBRE
Mr=¢ Mp=1.0X 78407
EMREDRH
Dp=Y= 0.368 m

7z+5+ _3.074 + 0.080 + 0.300 _ . > 368

78407 kN-m =27rQ= 78022 kN-m 0.K.
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(2) EMBRFIRAE | DIRE

B RHT
B(mm) % T(mm) A(md) Y (m) A-Y(md) A-Y(mY)
U-Flg 790 X 32 0.025 1. 5000 0.03795 0.056925
Web 2068 X 15 0. 045 0.032681
L-Flg 970 X 14 0.072 -1.5210 -0. 10921 0.166108
p3 0. 142 -0.07126 0.255714
61 = SAy/ZA = -0.503 m
1 = SAy-ZA- 617 = 0.220 p
Yul = 1.516 — -0.503 = 2.019 m
YI1 = 1.558 + -0.503 = 1.055 m
BREGRE : Sul = 0.220 2.019 = 1.09E+08 mn®
BREERE : SI1 = 0.220 / 1.055 = 2.08E+08 mm’
BH% (ERATRIE) :
B(mm) * T(mm) A(md) Y (m) A-Y(md) A-Yim) ()
C-Slab/8 5350 X 300 0. 201 1. 7460 0. 35025 0.611537 0.001505
Gerder 0. 142 -0. 5030 -0.07122 0.255714
b3 0.342 0.27903 0. 868756
62 = TAy/ZA = 0.815m
12 = TAY-3A- 62 = 0.641 p!
Yu2 = 1.516 — 0.815 = 0.701 m
YI2 = 1.558 + 0.815 = 2.373 m
Y2 =  0.701 + 0.380 = 1.081 m
BRERE : Su2 = 0.641  0.701 = 9.15E+08 mm’
BRmERE : S12 = 0.641 / 2.373 = 2.70E+08 mm’
BRTEEREL 1 Sc2 =  0.641 /  1.081 #n= 4.75E409 mm’
B (RAFE)
B(mm) * T(mm) A(m?) Y (m) A-Y(@) A-Yi(m®) 1o(m*)
C-Slab/24 5350 X 300 0.067 1.7460 0.11681 0.203950 0.000502
Gerder 0.142 ~-0. 5030 -0.07126 0.255714
3 0.209 0. 04555 0. 460166
63 = SAy/ZA = 0.218 m
13 = SAy-ZA- 63 = 0.450 p¢
Yud = 1.516 — 0.218 = 1.298 m
YI3 =  1.558 + 0.218 = 1.776 m
Ye3 = 1.298 + 0.380 = 1.678 m
MRS : Su3 = 0.450 / 1.298 = 3.47E+08 mm®
HAmTERAEL : SI13 = 0.450 /  1.776 = 2.54E408 mp’
BRTEEREL :Sc3 =  0.450 /  1.678 #n= 6.44E409 pp’
:IE]4 %3t Li
22746 5892 24596  __ 2 < _
U.FLG ou = 1096407 + 7. 476407 + 9 15402 — 253 N/mm® = 337 (=0.95Fy)
-22746 -5892 -24596 2 _
L.FLG ol =5 taeror * 2. saer00 T 2 70ep07 = 223 N/mm < 337 (=0. 95Fy)
CONCRETE  oc = 892, 24596 _ 61 N/mm’< 25.5 (=0.85fc’)

6. 44E403 4.75€+03 ~ =
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3. W@ 3, 19 (GEgF) ~ (kN-m)

S B PR ST A G | fEFIPR TR IR RE Il ‘
5 & H@EHQ = ) > )
Bt E (J<RA) 22746 1.25 28433 1.00 22746
[ ®&IEmE (R 5892 1.25 7365 1.00 5892
[ ERIE (EHE) 18920 1.75 33110 1.30 24596
2 ) —7 (R 1742 1.20 2090 0
| SRR (RER) 3022 1.20 3626 0
| RERE (RE) 2831 1.20 3397 0
7 Q 55153 78022 53234
S IR IR SR BE (SM490Y) Fy= 355,000 KkN/m’
SkARREIA R EE (SD345) Fyr= 350,000 KkN/m’
1/9)-PDRRET R HEEE (HEk28R) f¢'= 30 N/mm’
Y7 EEER) Es= 2.00E+08 kN/m’
Yoo @IU—BH) Ec= 2. 30E+07 kN/m?
Y U RELE n=8 (JEHR). 24 (RH)
HNTFE H= 80 mm
B(mm) X T(mm) A(m®) P (kN)
U-Flg 790 X 32 0.0253 Pc= 8982
Web 2068 X 15 0. 0445 _ Pw= 15798
L-Flg 970 X 74 0.0718 Pt= 25489
Slab 5350 X 300 1. 6050 Ps= 40928
Ph =Pc+Pw+Pt = 50,268 kN
Ps=0.85f' ¢-Bs-Ts=0.85X 30,000 X 1.6050 = 40,928 kN
ps Ot — 40,028 x 0:-0525 7,162 kN < Ph

ts 0.300
RITSHIIERBRAICHY ., KIRbYy THS5OBNYIILTELS,

_ Ph _ ¢ 50,268 \ _
Y=Ts( Ps )= 0.300 (740,928 ) 0.368 m
dH= 1.516 + 0.380 — 0.368 = 1.528 m
BT — A VZFMD(ILJ'FJ:KIZD. )
— Y-Ps . _  0.368 2x 17,162
Mp—-iﬂs + Ph-dH 5% 6,300 + 50,268 X 1.528
= 78407 kN-m
(1) EERRAKE | ORE
Mr=¢Mp=1.0X 78407 = 78407 kN-m =rQ= 78022 kN-m O.K.
ERRED R

Dp=Y= 0.368 m

2H _ 3.074 + 0.080 + 0.300 _ 0.461 > 0.368

1.5 1.5

C'rl‘> I

1
-
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(2) EEFRBRFIRAE | DIEE

ST
B(mm) % T(mm) A(m?) Y (m) A-Y(m®) A- Y (m*)
U-Flg 790 X 32 0.025 1.5000 0.03795 0.056925
Web 2968 X 15 0.045 0.032681
L-Flg 970 X 14 0.072 -1.5210 -0. 10921 0.166108
p3 0.142 -0.07126 0.255714
61 = ZAY/ZA = -0.503 m
" = SAY-3ZA- 617 = 0.220 n'
Yul = 1.516 — -0.503 = 2.019 m
YIl = 1.558 + -0.503 = 1.055 m
BREGRER : Sul = 0.220 / 2.019 = 1.09E+08 mm’
BERE : SI1 = 0.220 / 1.055 = 2.08E+08 mm®
A% GETRE)
B(mm) % T(mm) A(m®) Y (m) A Y(m®) A-YimY)  lo(m*)
C-Slab/8 5350 X 300 0.201 1.7460 0. 35025 0.611537 0.001505
Gerder 0.142 -0.5030 -0.07122 0.255714
p3 0.342 0.27903 0. 868756
62 = SAy/ZA = 0.815 m
12 = SAy>-3A- 622 = 0.641 p
Yu2 = 1.516 — 0.815 = 0.701 m
YI2 =  1.558 + 0.815 = 2.373 m
Yc2 =  0.701 + 0.380 = 1.081 m
R :Su2 = 0.641 / 0.701 = 9.15E+08 mm®
BREfRE :S12 =  0.641 /  2.373 = 2.70E+08 mm’
BRENGREL : Sc2 = 0.641 /  1.081 #n= 4.75E4+09 mm’
A% (RITIE)
B(mm) % T(mm) A(md) Y (m) A-Y(n®) A Y (mY lo(m*)
C-Slab/24 5350 X 300 0.067 1. 7460 0.11681 0.203950 0.000502
Gerder 0.142 -0.5030 -0.07126 0.255714
3 0.209 0. 04555 0. 460166
63 = ZAY/ZA = 0.218 m
13 = SAY>-XA- 632 = 0.450 pt
Yud = 1.516 — 0.218 = 1.298 m
YI3 = 1.558 + 0.218 = 1.776 m
Ye3 = 1.298 + 0.380 = 1.678 m
BAER2 :Su3 =  0.450 / 1.298 = 3.47E4+08 mn’
BERE : SI3 = 0.450 / 1.776 = 2.54E408 mm’
BRER2 :Sc3 =  0.450 /  1.678 :n= 6.44E+09 mn’
BISE %3t Li
_ 22746 5892 24596  _ 2 < _
U.FLG OU = 0oEr0s +73.47E+02 + 5 15E707 =253 N/mm" = 337 (=0. 95Fy)
-22746 -5892 -24596 _ 2 _
L.FLG ol = 2 08E402 + RIS + 2 TOE407 = 223 N/mm” = 337 (=0.95Fy)
CONCRETE  o¢ = 654849E2+03 + 42322%3 =6.1 N/mm?< 25.5 (=0.85fc")
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4. HRE 4, 18 (ZEgAIF) (kN:m)

BB PR ILIANE | {EFPRTIARE I
far -] HEAQ = = = ~ G
BiSE i (= HR) 19952 1.25 24940 1.00 19952
[ RIEHRE (R 5524 1.25 6905 1.00 5524
AriE  (EE) 20479 1.75 35838 1.30 26623
22U =7 (R 1475 1.20 1770 0
[ 2R (RED) 2444 1.20 2033 0
| REMRE (R 1947 1.20 2336 0
2 7Q 51821 74723 52009
SRAA R 1SR BE (SMA90Y) Fy= 355,000 KN/m’
8% 75 B (X S BE (SD345) Fyr= 350,000 kN/m’
I9-MORGTREEME (HEH28H) fc'= 30 N/mm’
Yo U%BER) Es= 2.00E+08 kN/m?
2 24 - (VDR S Ec= 2.30E+07 kKN/m?
YR n=28 (&EH). 24 (RED)
HBNVFE H= 80 mm
B(mm) X T (mm) A(mD) P (kN)
U-Flg 710 X 36 0.0256 Pc= 9088
Web 2964 X 15 0. 0445 Pw= 15798
L-Fig 970 X 65 0.0631 Pt= 22401
Slab 5350 X 300 1.6050 Ps= 40928
Ph =Pc+Pw+Pt = 47,286 kN
Ps=0.85f ¢-Bs-Ts=0.85X 30,000 X 1.6050 = 40,928 kN
ps- O = 40,928 x 008~ 7,162 kN < P
PITBIIKRRAICHY . KRby THSDBNhYIILTELS.
_ Ph \_ (471,286 | _
Y=Ts( B Y= 0.300 (—40,928 ) 0.347 m
dH= 1.518 + 0.380 — 0.347 = 1.551 m
A E— A Vthp(iLll'FéfJ.éo ,
_ Yps ) _ 0.347 2x 17,162
Mp= 1,2+  Ph-dH 2% 0.300 + 47,286 X 1.551
= 74793 kN-m
(1) MEERSFFIREE | ORBRE
Mr=¢Mp=1.0X 74793 = 74793 kN-m =71 Q= 74723 kN-m O.K.
ERRED 4

Dp=Y= 0.347 m
2H _ 3.065 + 0.080 -+ 0.300

0.459 > 0.347

1.5 7.5

Fﬂ
il
=

N
=
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(2) fEABRFRAE || DIRE

BT
B(mm) * T(mm) A(md) Y (m) A-Y(m®) A-Y(m®)
U-Flg 710 X 36 0.026 1.5000 0.03840 0.057600
Web 2964 X 15 0. 045 0.032550
L-Fig 970 X 65 0.063 -1.5145 -0. 09556 0. 144726
b3 0.133 -0.05716 0.234876
61 = ZAY/ZA = -0.429 m
1M = TAY-3A- 612 = 0.210 p'
Yul = 1.518 — -0.429 = 1.947 m
YIl = 1.547 + -0.429 = 1.118 m
EROIMRE : Sul = 0.210 1.947 = 1.08E+08 mm’
B S1t = 0.210 /  1.118 = 1.88E+08 mp’
SH% (ETE)

B(mm) * T(mm) A(md) Y (m) A-Y(m) Ay 1p(m®)
C-Slab/8 5350 X 300 0. 201 1.7480 0. 35065 0.612936 0.001505
Gerder 0.133 -0. 4290 -0.05714 0. 234876

)3 0.334 0.29351 0.849317
62 = ZAy/ZA = 0.879 m
12 = SAy*~ZA- 62 = 0.591 p!
Yu2 = 1.518 — 0.879 = 0.639 m
YI2 = 1.547 + 0.879 = 2.426 m
Ye2 = 0.639 + 0.380 = 1.019 m

B :Su2 = 0.591 /  0.639 = 9.26E+08 pm’

MBS :S12 = 0.591 /  2.426 = 2.44E408 mn®

BREREK : Sc2 = 0.591 /  1.019 #n= 4.64E+09 mm’

Bk (RIATIE)

B(mm) * T(mm) A(m?) Y (m) A-Y(n®) A-Y2mD 1o
C-Slab/24 5350 X 300 0.067 1.7480 0.11694 0.204411 0.000502
Gerder 0.133 ~-0. 4290 -0.05716 0.234876

p3 0.200 0.05978 0. 439789
63 = TAy/ZA = 0.299 m
13 = SAY-3A- 63 = 0.422 p
Yu3 = 1.518 — 0.299 = 1.219 m
YI3 =  1.547 + 0.299 = 1.846 m
Yed = 1,219 + 0.380 = 1.599 m
BAEGEE : Su3 = 0.422 /  1.219 = 3.46E+08 nn’
BREGRER :SI13 = 0.422 / 1.846 = 2.29E+08 mm’
BRE(%%:Sc3 =  0.422 /  1.599 #n= 6.33E409 pm’
AISE &3t Li
19952 5524 26623 _ 2 < _
U. FLG ou = ator ¥ 3. s6es02 T 8 26E07 = 22 N/mm” = 337 (=0.95Fy)
-19952 -5524 -26623 2 _
L.FLG ol = T ssesoz T 2 29e707 5 44E107 = 239 N/mm° = 337 (=0.95Fy)
CONCRETE  oc = 653532E4+03 + 42222103 =6.6 N/mm?2< 25.5 (=0.85fc")
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5.1. BRE 5, 17 GE#IF) (kN-m)
PR TLIREE | ERRAREN
I B Wil 71 Q y 7 Q T TQ
| BISE{eTEE (ke Al) 8131 1.25 10164 1.00 8131
| RIERE (R 3051 1.25 3814 1.00 3051
EmE (i) 17567 1.75 30742 1.30 22837
2 ) =7 (KA 399 1.20 479 0
§Z1RINEE (RHA) 1371 1.20 1645 0
| RERE (R 590 1.20 708 0
T7rQ 31109 47552 34019
S (R IMEE (SM490Y) Fy= 355,000 KkN/m’
Sk ARRR IR R EE (SD345) Fyr= 350,000 kN/m’
WPY-PORRET R HEREE (18628 0) fc'= 30 N/mm’
Yo REER) Es= 2.00E+08 kN/m?
Yoo @YIU—P) Ec= 2.30E+07 kN/m’
U R n=8 (5aHR). 24 (RED)
HNTFE H= 80 mm
B(mm) X T(mm) A(m) P (kN)
U-Flg 540 X 17 0.0092 Pc= 3266
| Web 2083 X 22 0. 0656 Pw= 23288
L-Fig 690 X 37 0.0255 Pt= 9053
Slab 5350 X 300 1. 6050 Ps= 40928
Ph =Pc+Pw+Pt = 35,607 kN
Ps=0.85f ¢-Bs-Ts=0.85X 30,000 X 1.6050 = 40,928 kN
ps— Ol = 40,028 x DD 7962w < P
RITEIEKRRAICHY . RIRbY THS5DBNY LT &5,
_ Ph | _ (35,607 _
Y=Ts( Py )= 10.300 (740’928 ) 0.261 m
dH= 1.509 + 0.380 — 0.261 = 1.628 m
ﬂﬂt%—}‘/thp(iuTc‘:txéo ,
— Yips ) _ 0.261 2x 17,162
Mp gt +  Ph-oH 7% 0.300 + 35,607 X 1.628
= 58763 kN-m
(1) BERFRE | ORBE
Mr=¢ Mp=1.0X 58763 = 58763 kN-m =71 Q= 47552 kN-m O.K.
EHHED KM
Dp=Y= 0.261 m
3H 3.037 + 0.080 + 0.300
e = 7 ¢ 0.456 > 0.261
CrbI hn AL?
= LPNA
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(2) EERBRFIRAE | DIRE

SRR
B(mm) % T(mm) A(m?) Y (m) A-Y(m®) A-Y(n®)
U-Flg 540 X 17 0.009 1.5000 0.01380 0.020700
Web 2983 X 22 0.066 0.048663
L-Flg 690 X 37 0.026 -1.5100 -0. 03851 0.058150
3 0.100 -0.02471 0.127513
61 = ZAY/ZA = -0.246 m
I = SAy>-3A- 617 = 0.121 p!
Yul =  1.509 — -0.246 = 1.755 m
YIT =  1.529 + -0.246 = 1.283 m
BRE®RE : Sut = 0.121 /  1.755 = 6.92E+07 mm’
BERE :SI1 = 0.121 /  1.283 = 9.476+07 mm®
SRk (ETEE)

B(mm) * T(mm) A(m®) Y (m) A-Y(md) A-YimY)  1p(mH
C-Slab/8 5350 X 300 0.201 1.7385 0.34874 0.606284 0.001505
Gerder 0.100 -0. 2460 -0. 02467 0.127513

3 0. 301 0.32407 0.735302
62 = ZAY/ZA = 1.077 m
12 = SAy:-SA- 622 = 0.38 n
Yu2 = 1,509 — 1.077 = 0.432 m
YI2 = 1.529 + 1.077 = 2.606 m
Yc2 = 0.432 + 0.380 = 0.812 m

BREOEREL : Su2 =  0.386  0.432 = 8.94E+08 mm’

BREOfREL : S12 = 0.386  2.606 = 1.48E+08 mm’

BT ERAEK : Sc2 = 0.386 0.812 #n= 3.81E+09 pm’

BRE (RUTE)

B(mm) * T(mm) A(m?) Y (m) A-Y(m®) A-Ym®  1o(m®)
C-Stab/24 5350 X 300 0.067 1.7385 0. 11631 0.202205 0.000502
Gerder 0.100 -0. 2460 ~0. 02471 0.127513

b3 0.167 0.09160 0. 330220
603 = TAY/ZA = 0.548 m
13 = SAy*-3A- 63 = 0.280 p'
Yu3 = 1.509 — 0.548 = 0.961 m
YI3 = 1.529 + 0.548 = 2.077 m
Yc3 =  0.961 + 0.380 = 1.341 m
HAE{RZ :Su3 = 0.280 / 0.961 = 2.91E+08 mm®
HAmGREL : SI13 = 0.280 /  2.077 = 1.35E+08 mm’
BATA(RE :Sc3 =  0.280 /  1.341 sn= 5.01E+09 gn’
A3t %3t Li
_ 8131 3051 22837 _ 2 < _
U.FLG ou=corsai T 2 916402 T 3 94ET0T = 154 N/mm” = 337 (=0.95Fy)
-8131 -3051 -22837 2 _
L.FLG gl = g aret01 T i 35e+09 T 1 48E407 = 263 N/mm” = 337 (=0. 95Fy)
CONCRETE  ogc = 53001551+03 + 32§?210§~=6.6 N/mm2<  25.5 (=0.85fc’)
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5.2. WmEm 5, 17 (GdlF) (kN-m)

BB RRIPIARE | ERRARREN
i & HiEQ T TQ r 7Q
| BiJEi E (RAR) 12731 1.25 —15914 1.00 12731
| RIEHE (R <1531 1.25 ~1914 1.00 -1531
EwmE  (EH) -11483 1.75 -20095 1.30 -14928
2 V=7 (&) -780 1.20 -936 0
| BRI (RE) 788 1.20 946 0
| BEAS &) =210 1.20 -252 0
T7rQ -25947 ~38165 -29190
S 47 B3 (X 38 BE (SM490Y) Fy= 355,000 KkN/m’
S (KSR EE (SD345) Fyr= 350,000 KkN/m’
WY)-bORET R AEMRE (Hi#h28H) fc'= 30 N/mm’
Yo/ RBER) Es= 2.00E+08 kN/m’
Yor@HE@ryoU—n) Ec= 2.30E+07 kN/m’
v JEELE n=38 (JEH8). 24 (RH#A)
BNTFB H= 80 mm
B(mm) X T (mm) A(m°) P (kN)
U-Flig 540 X 17 0.0092 Pt= 3266
Web 2083 X 22 0. 0656 Pw= 23288
L-Fig 690 X 37 0.0255 Pc= 9053
Rt (U) 3.871 X 54 0.0207 Prt= 7245
Rb (L) 3.871 X 54 0.0207 Pro= 7245

M aryns bMrEHEERORE

SUWHE—AL MFSOY z TEBBOBE

Pc+Pw= 32,341 = Pt+Prb+Prt = 17,756 kN
hiMiED T TAICHY., 9T by THo5OBNY LT ELS.

_ D Pc-Pt-Prt-Prb
Y =( 9 ) ( P +1)
., 2.983 -8704 _
=( 5 ) ( 53988 +1) = 0.934 m
N 7OEEL
Dcp . 2X(2.983-0.934) 186
tw 0.022 N.G.
3.76[———ﬁ-~— 3.76 355, 000 89 < 2Dcp/tw 186

¥ ULES-oT, A/ MEETIREL,
) /rarynRy rEOBE

Nz 70EELE OkEHBIHADY) 0.K.
6.77/ —E = 6.77 4 2-00E408 _ 164 = 2c/tw =68
) fc ) 342,862 =
DEHT7 S CDIBEL
bt _ 0.690 _ 9.3
2tf 0.074 : 0.K.
E _ 2.00E408 __ —
1.38[m = 1.38 ‘/_73992355 9.8 = 2bt/tf 9.3
NEH 7S5 CoHmHaRAMHY) 0.K.
) E _ 2.00E+08 _ _
1.76 r t-4/ By = 1.76 X 0.199 fisss,ooo 8.321 = Lb=6.250m

DN Ty REER

FEELEFEICLDBM 7S PORNEN, Dz 7OBRICHEERBALGNES,
Rb= 1.0

50 THERICLAEZHMRD

K EHRIMEREL/IBS., Rh= 1.0

% UZEN->T, BHIFREF=Rb- Rh-Fy=Fy& LT, ISHBEETS.
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op
2
=

B(mm) % T(mm) A(md) Y (m) A-Y(m®) A Y (m")
U-Flg 540 X 17 0.009 1.500 0.014 0.021
Web 2083 X 22 0. 066 0. 049
L-Flg 690 X 37 0.026 -1.510 -0.039 0.058
3 0.100 -0.025 0.128
61 = SAy/ZA = -0.246 m
I = SAy:-3A- 612 = 0.121 g
Yul = 1.509 — -0.246 = 1.755 m
YIl = 1.529 + -0.246 = 1.283 m
BREGRE : Sul = 0.121 /  1.755 = 6.92E407 mm’
B :SIt = 0.121 /  1.283 = 9.47€407 mn®
SRE  (GRKTSXER)
A(cm®) * n(&) A(md) Y (m) A-Y(m) A-Yi(mY
Rt (V) 3.871 X 54 0.021 1.836 0.038 0.070
Rb(L) 3.87T1 X 54 0.021 1.641 0.034 0. 056
Gerder 0.100 -0. 246 -0.025 0.128
> 0.142 0.047 0.253
62 = TAV/ZA = 0.334 nm
12 = S1y-ZA- 62 = 0.237 o
Yu2 = 1.509 — 0.334 = 1.175 m
YI2 = 1.529 + 0.334 = 1.863 m
Ys2 = 1.175 + 0.328 = 1.503 m
BRI :Su2 =  0.237 /  1.175 = 2.02E+08 mm’
HIEEE :SI12 = 0.237 / 1.863 = 1.27E+08 mn’
BRERE : Ss2 = 0.237 / 1.503 = 1.58E+08 mm’
(3) MEEFRFREE | OIEE
;L] #%3E Li R,S, T
15914 1914 20095 242 _ 2 <
U.FLG  ou=-g"soeso1 2 02e02 T 2026402 T 2 02402 — 40 N/mm” = 355
(=Fy)
_ -15914 -1914 -20095 -242 2 <
LRG0l =-gTomor ¥ Torer02 T 1 27es02 T T 27E402 343 N/mm” = 355
(=Fy)
_ 1914 20095 242 _ 2 <
S.Rod g5 = 1.586402  1.586402 T 1.s8et0z 141 N/mm” = 350
(=Fyr)
(4) SEFABRSFREE || OFEE
:UE]4 23t Li ,
_ 1213 1531 14928  _ 2 < -
UFLG  ou =g oorsor T 2.02e402 T 2.02e402 — 2% N/mm® = 337 (=0.95Fy)
_ -12131 -1531 -14928  _ _ 2 < _
L.FLG ol 9.47E+01 | 1.27E402 T 1. 27E402 264 N/mm° = 337 (=0.95Fy)
S.Rod  gs = 115583El+02 + llggéfoz =104 N/mm?=< 333 (=0.95Fyr)
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6. BT 6, 16 (GghlF)

(kN-m)
SR EEPRILIANE | (B
fir -] HmEHQ = o) )
BISLIAT E (FeBA) ~42598 1.25 -53248 ~42598
®RIEHE (R -8214 1.25 -10268 -8214
EfmE (| -17503 1.75 -30630 -22754
| JU—T (&) -934 1.20 -1121 0
IR (R -3539 1.20 -4247 0
RERE (R -1004 1.20 -1205 0
271 Q —73792 ~100718 ~73566
41 B IR SE B (SM520C-H) Fy= 355,000 KkN/m’
$kEhRE (R IEE (SD345) Fyr= 350,000 KkN/m’
WHY-MORRFTRAEREE (M 28 ) fc'= 30 N/mm’
Yo EREER) Es= 2.00E+08 kN/m’
YOORK@YIU—B) Ec= 2.30E+07 kN/m’
Yo URELt n=8 (5Eif). 24 (EHD)
HNFE H= 80 mm
B(mm) X T(mm) A(m%) P (kN)
U-Flg 1000 X 67 0.0670 Pt= 23785
Web 2933 X 29 0. 0851 Pw= 30211
L-Flg 1000 X 85 0.0850 Pc= 30175
Rt (U) 3.871 X 51 0.0196 Prt= 6860
Rb (L) 3.871 X 51 0.0196 Pro= 6860
(1) ARy PEEOBE
SUHBE—AY FEOY Tz TERSBOSE
Pc+Pw= 60,386 =  Pt+Prb+Prt = 37,505 kN
hIMEO T TAICHY., DT by ThS5OBNYREUTELS,
_ D Pc-Pt-Prt-Prb
Y =( 2 ) ( Pw +1)
_ ., 2.933 -7330 _
=( > ) ( 30211 +1) = 1.111 =m
N 7OIREL
Dcp _  2X(2.933-1.111) 126
tw 0.029 N.G.
E 2. 00E+08 __ —
3.764 By = 3.76 fisss,ooo = 89 < 2Dcp/tw = 126
X Lef-> T, Ao FEE T,
2) /yayvy FEREORE
N 7DOEELE KFEHBAHY) 0.K.
E _ 2.00E+08 _
6.774/ - T 6.77 I4—345,028 = 163 = 2Dc/tw
DEMTZ S CDREH
77777 bt o 1.000 = 5.9
2tf 0.170 : 0.K.
E _ 2. 00E+08 __ —
1.38[Tc We/tw 1.38 ./'~3470033 = 10.5 = 2bt/tf =5.9
NEW7 S5 COBMXBFRARNAHY) 0.K.
) E _ 2.00E+08 _ _
1.76rt-y By 1.76 X 0.289 ~355. 000 12.059 = Lb=6.250m

HNA Ty FEERN

BEELAFHEICEIMI S POBNEN, U 7ORRIENEEZBALE VRS,

Rb= 1.0

5 TERICKBEERD

KEGHRIMEZBLAIBS. Rh= 1.0

X US> T, MIFBEF=Rb- Rh-Fy=Fy& L T. EHBEX{TD,
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SRR

B(mm) * T(mm) A(m®) Y (m) A-Y(m) A-Yi(m®)
U-Flg 1000 X 67 0. 067 1.500 0.101 0.151
Web 2933 X 29 0.085 0. 061
L-Flg 1000 X 85 0.085 -1.509 -0.128 0.194
b3 0.237 -0.028 0.405
61 = SAy/ZA = -0.117 m
1N = SAy:-3ZA- 612 = 0.402 pt
Yul = 1.534 — -0.117 = 1.651 m
YI1 = 1.552 + -0.117 = 1.435 m
BATEREL : Sul =  0.402 /  1.651 = 2.44E+08 mm’
BIEGRE - SI1 =  0.402 /  1.435 = 2.80E+08 mn®
AR (TR
A(cmd) * n(&) A(m?) Y (m) A Y(m) A Y(mY
RE(U)  3.871 X 51 0.020 1.861 0.036 0.068
Rb(L)  3.871 X 51 0.020 1.666 0.033 0.054
Gerder 0.237 -0.117 -0.028 0. 405
b3 0.276 0.041 0.528
62 = SAY/ZA = 0.150 m
12 = Sl-XA- 62 = 0.521 p
Yu = 1.534 — 0.150 = 1.384 m
YI2= 1.552 + 0.150 = 1.702 m
Ys2 = 1.384 + 0.328 = 1.712 m
BimEEE :Su2 =  0.521 /  1.384 = 3.77E+08 mm
BiE@E :S12 =  0.521 / 1.702 = 3.06E+08 mm
BE{R&:8s2 = 0.521 / 1.712 = 3.05E+08 mn®
(3) MR FRIRE | OBE
:0E]4 %3t Li R,S, T
_ 53248 10268 30630 6572 2 <
UFLG  ou =—"aer0s T 3.77e402 T 3.77E402 T 377502 o%° N/mmT = 355
(=Fy)
_ -53248 10268 -30630 6572 _ _ 2 <
LFLG ol =5 gokt02 T 3 06E+02 T 3.06E402 T 3.06E402 _ S49 N/mm® = 355
(=Fy)
_ 10268 30630 6572 _ 2 <
S-Rod 0 705402  3.056402 T 3.056402 100 N/mm” = 350
(=Fyr)
() {ERRRFREN DBRE
AISE £33t Li
42598 8214 22754  _ 2 _
U.FLG  ou =-"art02 T 3.77e402 T 3.77e402 257 N/mm® = 337 (=0.95Fy)
_ 42598 8214 22754 _ _ 2 < :
LFLG ol =5 gocr02 T 3.06e402 T 3.066402 — 208 N/mm® = 337 (=0.95Fy)
_ 8214 22154 _ 2 < ;
S.Rod os = 3 05ET02 + 3 05E402 102 N/mm° = 333 (=0.95Fyr)
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7. BE 7, 15 (BdhlT) - "&wm
TR PR AIARE | FERRAIAE
far -} HiEhQ > 3 = ~q
[ RIJE fT o (I BA) ~53501 1.25 —73126 1.00 ~58501
EEAE (RE) -11799 1.25 -14749 1.00 -11799
| EmE  (E) -22709 1.75 -39741 1.30 -29522
2 -7 (&R -1002 1.20 -1202 0
&R INE (REA) -3795 1.20 -4554 0
BEGRE (RE) -788 1.20 -946 0
2T1Q -98594 ~134318 ~99822
41 B IR OR BE (SM5T0-H) Fy= 450,000 KkN/m’
SKEh IR 5% BE (SD345) Fyr= 350,000 KkN/m
WHY-FORRETEAEEEE (MER288) fc' = 30 N/mm’
Yo EREE) Es= 2.00E+08 kN/m’
YOUEB@AYIYU—D) Ec= 2.30E+07 kN/m’
YU R n=8 (&), 24 (&HA)
BNFE H= 80 mm
B(mm) X T(mm) A(m®) P (kN)
U-Flg 1000 X 73 0.0730 Pt= 25915
Web 2927 X 27 0.0790 Pw= 28045
L-Flg 1000 X 90 0. 0900 Pc= 31950
Rt (L) 3.871 X 49 0.0191 Pri= 6685
Rb(L) 3.871 X 49 0.0191 Prb= 6685
M aryny FrEORBE
VUM E—AL FMEOY T 7TERBOSHE
Pc+Pw= 59,995 =  Pt+Prb+Prt = 39,285 kN
iz TRICHY., DT by THoDRNYIILITELES,
_ D Pc-Pt-Prt-Prb
Y =( 5 ) ( Py +1)
., 2.927 -7335 _
= 5 ) ( 58045 +1) = 1.081 m
N 7DEEL
cp . 2X(2.927-1.081)  _ 137
tw 0.027 - N.G.
E  _ 2. 00E+08 _ —
&MI—TT—— 3J6f7%jﬁ—— 79 < 2Dcp/tw = 137
X Lo T, ayvsiy MERE TR,
(2) /Ay NEORE
Ny 7DEEL OkFEHRIFEHY) 0.X.
E _ 2.00E+08 _ —
5.77J’44—?5447-— 6.77 “F‘Ziﬁiiiﬁ?“'" 144 = 20c/tw = 54
DERT S COIREREL
bt 1.000 _ 5 8
2tf 0.130 : 0.K.
E _ 2.00E+08 _ _
"38f/m = 1.38 4 4614280 — 9.1 = 2bt/tf =5.6
NERTZ S PCORIFHERAHY) 0.K.
] E  _ 2.00E408 _ _
1.76 r t-y~ Fy 1.76 X 0.289 J_‘Zﬁﬁﬁmﬁf’ 10.711 = Lb=6.250m

HONATYy REER

FBELEFREICLEIH[I7 S COBNEN. Vx 7OBREHEEZBALZNES,
Rb= 1.0

59 r JHERICKSAFHHMRD

KEHRBIHEZRBEL/IHBE. Rh= 1.0

XULEM>T. HIFREF=Rb-Rh-Fy=Fy& L T. BHRBREZETS.
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op
S
=

B(mm) * T(mm) A(m?) Y (m) A-Y(m) A - Y(n®)
U-Flg 1000 X 73 0.073 1.500 0.110 0. 164
Web 2927 X 27 0.079 0.056
L-Fig 1000 X 90 0.090 ~1.509 ~0.136 0. 205
b3 0.242 -0.026 0. 425
61 = SAy/ZA = -0.109 m
1 = SAy-3A- 617 = 0.423 o'
Yul = 1.537 — -0.109 = 1.646 m
YIl = 1.554 4+ -0.109 = 1.445 m
BREI{REL : Sul =  0.423 /  1.646 = 2.57E+08 mm’
BB :SI1 =  0.423 / 1.445 = 2.92E+08 mn®
SRk (GRITHEKE)
A(cm®) * n(&) A(m®) Y(m) A-Y(m A-Y:(m®
Rt(U)  3.87T1 X 49 0.019 1.864 0.036 0. 066
Rb(L)  3.87T1 X 49 0.019 1.669 0.032 0.053
Gerder 0.242 -0. 109 -0.026 0. 425
3 0.280 0.041 0. 545
62 = SAV/ZA = 0.147T m
12 = Sle-ZA- 62 = 0.539 p
Yu2 = 1.537 — 0.147 = 1.390 m
YI2 = 1.554 + 0.147 = 1.701 nm
Ys2 = 1.390 + 0.328 = 1.718 m
BB :Su2 = 0.539 /  1.390 = 3.88E+08 mm
BREfRE :SI12 = 0.539 / 1.701 = 3.17E+08 mm
BREfREL : Ss2 =  0.539 / 1.718 = 3.14E+08 mm
(3) MEEPRFIRE | OBE
BISE %It Li R,S, T
_ 73126 14749 39741 6702  _ 2
UFLG  ou=-"c7er02 * 7.88e+02 T 3.88E+02 T 3.88Ev0z — 443 N/mm
_ -T3126 ~14749 -39741 -6702 _ _ 2
L.FLG ol =5 02 3. 17e402 T 3 17E402 T 3. 17E402 443 N/mm™ =
_ 14749 39741 6702  _ 2
S-Rod 05 = 304402 3.14E402 T 3.14e402 190 N/mm” =
(4) EARFIRE | DRE
[:1E]4 %3 Li
_ 58501 11799 29522 _ 2
UFLG  ou = c7ev02 ¥ 3.88e402 T 3.88Ef02 — 334 N/mm” =
_ -58501 -11799 -29522 _ 9
LFLG ol =gkt  3.a7er02 T 3. 17402 = 330 N/mm® =
_ 11799 20522 2
S. Rod ogs = 3. 14E402 + 7 146007 — 132 N/mm" =
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450
(=Fy)
350

(=Fyr)

428 (=0.95Fy)
428 (=0.95Fy)
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8. Whimm 8, 14 (&BhlF) “«wm
BERBKET |  GHBRAREN ]
il B HE7Q T 7Q T TQ
BIIL{nT B (L HA) -39033 1.25 —48791 1.00 ~39033
#RIERIE (RHA) -7258 1.25 -9073 1.00 ~7258
& -15081 1.75 -26392 .30 -19605
) —T7(RE) -1002 1.20 -1202 0
iR (R -3795 1.20 -4554 0
SRERE (R -301 1.20 -361 0
27TQ -66470 -90373 ~65896
S 47 B IR SR BE (SM520C-H) Fy= 355,000 kN/m’
Sk 5HRE (R 3R EE (SD345) Fyr= 350,000 KkN/m’
IH)-MOREFT RS (Fh28 ) fc'= 30 N/mm?
Yo/ R¥ER) Es= 2.00E+08 kN/m’
Yoro%E@YyHU—h) Ec= 2.30E+07 kN/m’
YRt =8 (5EH). 24 (RHA)
WiNTFB H= 80 mm
B(mm) X T(mm) A(m°) P (kN)
U-Fig 1000 X 58 0. 0580 Pt= 20590
Web 2942 X 28 0.0324 Pw= 29252
L-Flg 1000 X 75 0.0750 Pc= 26625
Rt (U) 3.871 X 51 0.0197 Pri= 6895
Rb(L) 3.871 X 51 0.0197 Prh= 6895
(1) oy FEEOEE
PUPTE—AL MEOY x TERBOG S
Pc+Pw= 55,877 = Pt+Prb+Prt = 34,380 kN
RIMEI T TRICHY. 9T by THS5OMNYIILIT &L S,
_ D Pc-Pt-Prt-Prb
Y =( 5 ) ( by +1)
_, 2.942 -7755 _
=( 5 ) ( 99757 +1) = 1.081 m
N x7DIEEH
cp _ 2X(2.942-1.081) _ 133
tw 0.028 N. G.
E  _ 2. 00E+08 _ —
3.764 Tam 3.76 ‘/—4355,000 = 89 < 2Dcp/tw = 133
X LFEB-T, ARy FHE T,
2 />arynRy FEEORBRE
N 7OREEE CkFE#HBEHY) 0.K.
E _ 2. 00E+08 _ _
DEMT S DIRELE
bt 1.000 _ 6.1
2tf 0.150 . 0.K.
E _ 2.00E+08 __ _
1.38[ch e/t = 1.38 ‘/_"'*353231*7*_ 10.4 = 2bt/tf =6.7
NEHI SO IFHAAHY) 0.K.
E _ 2. 00E+08 _ —
1.76 r t-f-r——v—ﬁ—— 1.76 X 0.289 ‘/_‘iés*,"’dbo“ 12.059 = Lb=6.250m

HDNATUy REHR

BRBEUEFEICLDITHI S PORNEN. U 7OBRENELBAEIEE,

Rb= 1.0
5V x JEERICK HRHRD
KFEHAIMERE LSS, Rh= 1.0

XU7&M-> T, dIlfHMEF=Rb- Rh-Fy=Fy& LT, BHREZTD
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op
S
o

B(mm) * T(mm) A (m?) Y (m) A-Y(m®) A-Yi(m")
U-Flg 1000 X 58 0.058 1.500 0.087 0. 131
Web 2942 X 28 0.082 0.059
L-Flg 1000 X 75 0.075 ~1.509 -0.113 0.171
b3 ' 0.215 0. 026 0.361
61 = SAY/ZA = -0.121 m
I = TAy-3A- 617 = 0.357 nt
Yul = 1.529 — -0.121 = 1.650 m
YI1l = 1.546 4+ -0.121 = 1.425 m
BRTE{REL : Sul =  0.357 /  1.650 = 2.17E+08 mm’
EREEREL : SI1 = 0.357 /  1.425 = 2.51E408 mm’
BRE  (EH8kEh)
A(cm®) * n(&) A(md) Y (m) A-Y(@m®) A Y (mY)
Rt(U)  3.871 X 51 0.020 1.857 0.037 0.068
RO(L)  3.871 X 51 0.020 1.662 0.033 0.054
Gerder 0.215 -0. 121 -0. 026 0.361
b3 0.255 0.043 0.483
62 = SAY/ZA = 0.170 m
12 = Ti-ZA- 02 = 0.475 n*
Yu2 = 1.529 — 0.170 = 1.359 m
YI2= 1.546 + 0.170 = 1.716 m
Ys2 = 1.350 + 0.328 = 1.687 m
BREMREL : Su2 =  0.475 / 1.359 = 3.50E408 pm’
BimR¥ :S12 = 0.475 / 1.716 = 2.77E+08 mm’
BEfREL : Ss2 =  0.475 /  1.687 = 2.82E+08 mm’
(3)BERFRE | DEE
AISE %3 Li R,S, T
__ 48791 9073 26392 6118  _ 2 <
UFLG  ov =" 7er00 T 3.50e402 T 3.50e402 T 3.50E02 — o4 N/mm” = 355
_ (=Fy)
_ -48791 -9073 -26392 6118 2 <
LFLG ol = aeor T 2 7mer0e T 2. 77e4002 T I TTER02 345 N/mm” = 355
(=Fy)
_ 9073 26392 6118 _ 2 <
S.Rod o5 = 7826402  2.82E402 T 2.82e402 47 N/mm" = 350
(=Fyr)
(4) EARFRE | DR
A%t %3 Li
_ 39033 7258 19605  _ 2 < .
U.FLG  ou =-"7er02 + 350402 T 3.50e402 27 N/mm” = 337 (=0.95Fy)
_ -39033 -7258 | -19605 _ _ 2 < :
LRG0l =5 5ig02 * 2778402 T 2.77ee02 293 N/mm” = 337 (=0.95Fy)
S.Rod os = 27322558+02’+ 2'332302 =95 N/mm?< 333 (=0.95Fyr)
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9. HR@E 9, 13 (AthF) (kN-m)

BEMRARE | GEHRAARENl |
Gl = HE71Q T 7Q T T Q
A GEAe) 11716 1.25 —14645 1.00 11716
®IEFE (R -886 1.25 -1108 1.00 ~886
EmE (G -8432 1.75 -14756 1.30 -10962
) =7 (KHA) -1002 1.20 -1202 0
[ RS (RED -245 1.20 -294 0
REME (RE) -1673 1.20 -2008 0
71 Q -23954 -34013 -23564
S B KSR EE (SM490Y) Fy= 355,000 kN/m’
Sk AHRE (KRB (SD345) Fyr= 350,000 KkN/m’
I/9)-b DR EHEMEE (128 H) fc'= 30 N/mm’
Y% ER) Es= 2.00E+08 kN/m’
YooE@QU—-BM) Ec= 2.30E+07 kN/m’
¥/ &HuLE n=28 (&), 24 (B
HNFE H= 80 mm
B(mm) X T(mm) A(m?) P (kN)
U-Flg 450 X 15 0.0068 Pt= 2414
Web 2985 X 21 0.0627 Pw= 22259
L-Flig 640 X 34 0.0218 Pc= 7739
Rt (V) 3.871 X 53 0.0207 Pri= 7245
Rb (L) 3.871 X 53 0.0207 Prb= 7245

(M) Ao FEREDRE
SVHE—AL LBOY  TEHEBOFHS
Pc+Pw= 29,998 =  Pt+Prb+Prt = 16,904 kN
PIAMEVTRICHY. VT by THOORNY LT ERS,

_ D Pc-Pt-Prt-Prb
Y =(—5—)( Py +1)
_( 2.985 -9165 _
=(=5) (—55559—— +1) = 0.878 m
DYz 7DIREFL
2Dcp _  2X(2.985-0.878) _ 201
tw 0.021 N.G.
E _ 2.00E+08 _ =
3.764 By = 3.76 355, 000 89 < 2Dcp/tw 201

X LS->T. a8y NEETIZAL,
) />arynRy FmEmORAE

N 70EELE GREHBIHAHY) 0.K.
E _ 2.00E408 _ —
6.77/ e = 6.77 ‘rﬁu,sss 163 = 2Dc/tw 71
DEW7 S5 PDRELL
bt _ 0.640 _ 9.4
2tf 0.068 : 0.K.
E _ 2.00E+08 _ =
"38chTtw = 1.38 f‘ﬁﬁm_“ 9.6 = 2bt/tf 9.4
NER7 S5 COWIHwMAIAHY ) 0.K.
E 2. 00E+08
Y = 0 — => =
1.76 r t-y Fy 1.76 X 0.185 355, 000 7.718 = Lb=6.250m

HNA Ty FEHERA :

FHELEFHEICEIPMI7S U PORINEN,. Dx7OBRRISHEEZRBALIVMES.
Rb= 1.0

50 T JEERBICKDHHMRD

KEHBIHEZRBEL /IS, Rh= 1.0

XULEMN->T. HhiFREF=Rb- Rh-Fy=Fy& L T. GHBEETD.
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op
2
=

B(mm) % T(mm) A(md) Y (m) A-Y(®) A-Yi(m*)
U-Flg 450 X 15 0.007 1.500 0.010 0.015
Web 2985 X 21 0.063 0. 047
L-Flg 640 X 34 0.022 -1.510 -0.033 0. 050
b3 0.091 -0.023 0.112
61 = ZAy/ZA = -0.249 m
= SAy:-3A- 612 = 0.106 p
Yul = 1.508 — -0.249 = 1.757 m
YIT = 1.527 + -0.249 = 1.278 m
BiEIREL : Sul = 0.106 / 1.757 = 6.03E4+07
BEERE:S11 = 0.106 / 1.278 = 8.28E407 mn’
1% SC ETRE )
A(cm®) * n(&) A (m?) Y (m) A-Y(md) A-Yi(nY)
Rt(U)  3.87T1 X 53 0.021 1.835 0.038 0.070
Rb(L)  3.871 X 53 0.021 1.640 0.034 0. 056
Gerder 0.091 -0. 249 -0.023 0.112
b3 0.133 0.049 0.237
62 = SAY/ZA = 0.371 m
12 = Sle-ZA- §2 = 0.219 p*
Yu2 = 1.508 — 0.371 = 1.137 m
YI2 = 1.527 4+ 0.371 = 1.898 m
Ys2 = 1.137 + 0.328 = 1.465 m
BRERE - Su2 =  0.219 /  1.137 = 1.92E+08 mm’
B :S12 = 0.219 / 1.898 = 1.15E+08 mm®
BB :Ss2 =  0.219 /  1.465 = 1.49E408 pp’
(3)RERFIRE | DRBRE
BI3E #%3E Li R,S, T
14645 1108 14756 3504 2
UFLG  ou=-goseror * T.o2ev02 T 1926402 T 1.92E402 — 344 N/mm” =
_ -14645 -1108 ~14756 -3504  _ _ 2
LFLG ol =g s 1156402 T 1. 156402 T 1. 156402 345 N/mm
_ 1108 14756 3504  _ 2
S-Rod o5 = 1.49E402  1.496402 T V.49et02 _ 130 N/mm” =
(4) (EFBRSRIREE || DIRTE
BIJE %3t Li
_ 11716 886 10962 _ 2
U.FLG  ou =—t"oseror T Toooet02 T 7 e2er02 — 296 N/mm
_ -11716 -386 -10962 _ _ 2
L.FLG ol =3 2se+01 T 7.15e402 T 1.15e402 — 244 N/mm
_ 886 109062 _ 2
S:Rod a5 = 749402 T T.49e40z — 19 N/mm
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9.2. BRWE 9, 13 (iEdhlF) (kN-m)
%0 L PRJRIATE | EHAERREN |
Gl B HiE 7 Q T TQ T rQ
AL m 2 (i) 6369 1.25 7961 1 6369
| RIERE (RHA) 3333 1.25 4166 1 3333
ErE (ail) 14943 1.75 26150 1 19426
VP AC-i:) 81 1.20 97 0
RS (&) -248 1.20 -298 0
| REWEED) 1678 1.20 2014 0
27Q 26156 40091 29128
S ER (R 3R BE (SM490Y) Fy= 355,000 KkN/m
$X 55 R (R 38 BE (SD345) Fyr= 350,000 KkN/m’
Y- RUEMEE (MH28H) fc'= 30 N/mm?
YU REER) Es= 2.00E+08 kN/m’
YOORB@IY—PN) Ec= 2. 30E+07 kN/m
v Rt n=28 (EHA). 24 (KRR
N TFE H= 80 mm
B(mm) X T (mm) A(m) P (kN)
U-Flg 450 X 15 0. 0068 Pc= 2414
Web 2985 X 21 0.0627 Pw= 22259
L-Fig 640 X 34 0.0218 Pt= 7739
Slab 5350 X 300 1.6050 Ps= 40928
Ph =Pc+Pw+Pt = 32,412 kN
Ps=0.85f ¢-Bs-Ts=0.85X 30,000 X 1.6050 = 40,928 kN
ps—CTL = 40,928 x—PE = 7,162 1N < Ph
P dhIERRAICHY . Kby TOS50OBNYIILTELS,
_ Ph  _ L 2,412
Y=Ts( Ps )= 0.300 (740,928 ) 0.238 m
di= 1.508 -+ 0.380 — 0.238 = 1.650 m
ﬁéﬁ’&—}‘/szpliLl'F&t;éo )
_ Y'ps ) _ 0.238 ’x 17,162
Mp=—52 S+  Ph-dH 25 0.300 + 32,412 X 1.650
54150 kN-m
(1) SHREERRFRKE | DIRE
Mr=¢pMp=1.0X 54150 = 54150 kN-m =7r Q= 40091 kN-m O.K.
TN RED R
Dp=Y= 0.238 m
SH _ 3.034 + 0.080 + 0.300 _
5 = 76 = 0.455 > 0.238
Crbl o~ _L?
- LPNA
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(2) ERRFIRAE || DERZE

S RAT

B(mm) % T(mm) A(m®) Y (m) A-Y(n®) A-Yi(mY
U-Flg 450 X 15 0.007 1.5000 0.01020 0.015300
Web 2085 X 21 0.063 0. 046545
L-Flg 640 X 34 0.022 ~1. 5095 -0.03291 0.049678

p3 0.091 -0.02271 0.111523
61 = ZAY/ZA = -0.249 m
I = SAy:-3A- 612 = 0.106 pt
Yul = 1.508 — -0.249 = 1.757 m
YI1T = 1,527 + -0.249 = 1.278 m

RS :Sul = 0.106 / 1.757 = 6.03E+07 mm’

EmEfRE - S1t = 0.106 / 1.278 = 8.28E+07 mm’

SH% ERE)

B(mm) * T(mm) A(m) Y (m) A-Y(m®) A-YimY  ly(mY)
C-Stab/8 5350 X 300 0. 201 1.7375 0. 34854 0.605588 0.001505
Gerder 0.091 -0. 2490 -0.02273 0.111523

)3 0.292 0. 32581 0.718616
62 = SAy/ZA = 1.116-m
12 = SAY:-3A- 622 = 0.355 pt
Yu2 = 1.508 — 1.116 = 0.392 m
YI2 = 1.527 + 1.116 = 2.643 nm
Ye2 = 0.392 + 0.380 = 0.772 m

BRTGR2L : Su2 =  0.355  0.392 = 9. 06E+08 mn®

BERE - S12 = 0.355  2.643 = 1.34E+08 mm’

BAEGfRER : Sc2 = 0.355 /  0.772 #n= 3.68E+09 mm’

BRE (RUTE)

B(mm) % T(mm) A(md) Y (m) A-Y(m) A Yi(m") lo(m*)
C-Slab/24 5350 X 300 0.067 1.7375 - 0.11624 0.201967 0.000502
Gerder 0.091 -0. 2490 -0. 02271 0.111523 :

p3 0.158 0.09353 0.313992
63 = ZAy/ZA = 0.591 m
13 = SAy-3A- 63 = 0.259 p*
Yud =  1.508 — 0.591 = 0.917 m
YI3 = 1.527 + 0.591 = 2.118 m
Ye3 = 0.917 + 0.380 = 1.297 m
BTEREL - Su3 = 0.259 0.917 = 2.82E+08 mm’
BATER2L : SI3 = 0.259 /  2.118 = 1.22E4+08 mm’
BRTOREL : Sc3 =  0.259 /  1.297 #n= 4.T9E+09 mp’
AISE 123t Li
_ 6369 3333 19426  _ < -
U.FLG  ou =-¢03er01 T 7 82e+02 T 9. 06cs02 — '39 = W1 (=0.95Fy)
-6369 -3333 -19426 _ 2 _
L.FLG ol =-goseror T 122402 T 1 34E407 = 249 N/mm* = 337 (=0. 95Fy)
CONCRETE  oc¢ = 737393E3+03 + 3'222203 =6.0 N/mm’< 25.5 (=0.85fc")
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10. BRE 10, 12 (QEdhIF) (kN-m)
R PRTTIARE | I
Gl & HiE5Q T TQ T T Q
BIL T e (k1) 15099 1. 25 18874 1.00 15099
&I E (BERD 5369 1.25 6711 1.00 5369
EEE (i) 18614 1.75 32575 30 24198
S J—TJ (&) 830 1.20 1056 0
[ RN (RA) 287 1.20 344 0
BERE (B 1127 1.20 1352 0
S71Q 41376 60912 44666
1 B AR 5 BE (SM490Y) Fy= 355,000 KkN/m’
Sk 55 R (X 38 FE (SD345) Fyr= 350,000 KkN/m’
WHY-MD BT R AERE (Hi#rp288) fc'= 30 N/mm’
Yo UG Es= 2.00E+08 kN/m’
Yo OREG@YIY—=PN) Ec= 2.30E+07 kN/m’
Y& n=28 (5EH3). 24 (EH9)
HNTFE H= 80 mm
B(mm) X T{(mm) A(m®) P (kN)
U-Fig 550 X 24 0.0132 Pc= 4686
Web 2976 X 15 0.0446 Pw= 15833
L-Fig 960 X 49 0.0470 Pt= 16685
Slab 5350 X 300 1.6050 Ps= 40928
Ph =Pc+Pw+Pt 37,204 kN
Ps=0.85f ¢-Bs-Ts=0.85X 30,000 X 1.6050 = 40,928 kN
Ps— Sl = 40,028 x -8 = 7,162 kN < Ph
PIIIIERRAICHY., ERERb Yy THSOBNYIILIT &5,
1o PR _ ¢ 37,204
Y=Ts( P )= 0.300 (————40'928 ) 0.273 m
dH= 1.512 -+ 0.380 0.273 = 1.619 m
AT — A >2|~Mp(1L:lTe:r;6° ,
_ Y:Ps . 0.273 2x 7,162
Mp=—T,2 5+  Ph-dH 7% 0.300 + 37,204 X 1.619
= 61132 kN-m
(1) SREEPRFTIKEE | OMEE
Mr=¢ Mp=1.0X 61132 61132 kN-m =7 Q= 60912 kN'm O.K.
TR HED %
Dp=Y= 0.273 m ;
JH 3.049 + 0.080 + 0.300 0.457 > 0.273
7.5 7.5
Crb I e i?

r—h-
u
5
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(2) EFRPRFIRAE | ORE

AREI

B(mm) * T(mm) A(m?) Y (m) A-Y(m') A=Y (n"
U-Flg 550 X 24 0.013 1. 5000 0.01980 0.029700
Web 2976 X 15 0.045 0.032946
L-Flg 960 X 49 0.047 -1.5125 -0.07109 0.107524

3 0.105 -0.05129 0.170170
61 = SAy/ZA = -0.489 m
1t = SAy-3ZA- 61 = 0.145 p'
Yut = 1.512 — -0.489 = 2.001 m
YI1 = 1.537 4+ -0.489 = 1.048 m

BREREL : Sul = 0.145 /  2.001 = T7.256+07 mm®

BAERE :SI11 = 0.145 /  1.048 = 1.38E+08 mm’

Ak GEHTE)

B(mm) * T(mm) A(n®) Y (m) A-Y(m®) A-Yi(m") lo(m*)
C-Slab/8 5350 X 300 0.201 1.7420 0. 34945 0.608742 0.001505
Gerder 0.105 -0. 4890 -0.05125 0.170170

3 0.305 0.29820 0.780417
62 = ZAy/ZA = 0.976 m
12 = SAy-TA- 822 = 0.490 pt
Yu2 =  1.512 — 0.976 = 0.536 m
YI2 = 1.537 + 0.976 = 2.513 m
Ye2 = 0.536 + 0.380 = 0.916 m

HAEGREK : Su2 =  0.490 / 0.536 = 9.13E+08 mn’

BEERE 812 = 0.490 / 2.513 = 1.95E408 gm’

BAEMEE :Sc2 =  0.490 /  0.916 #n= 4.28E+09 mn’

Bk (RIARE)

B(mm) % T(mm) A(md) Y (m) A-Y(m® A-Yim®)  lp(m®
C-Slab/24 5350 X 300 0.067 1.7420 0.11654 0.203013  0.000502
Gerder 0.105 -0. 4890 -0.05129 0.170170

b3 0.172 0. 06525 0.373685
63 = SAy/ZA = 0.380 m
13 = SAY-TA- 63 = 0.349 p
Yu3 = 1.512 — 0.380 = 1.132 m
YI3 = 1.537 + 0.380 = 1.917 m
Ye3 = 1.132 + 0.380 = 1.512 m
BTG :Su3 =  0.349 1.132 = 3.08E+08 mn’
ARG :SI13 = 0.349 /  1.917 = 1.82E+08 mn’
BAEERE :Sc3 =  0.349 /  1.512 sn= 5. 54E4+09 pp’
BI3E £3E Li
15099 5369 24198  _ 2 _
U.FLG OU = eE i + 3 08E407 + 9 136402 — 252 N/mm 337 (=0.95Fy)
-15099 -5369 -24198 _ 2 _
L.FLG ol = i3ser02 T i s2e02 T 1 9sesgs — 263 N/mm 337 (=0.95Fy)
CONCRETE  oc = 55534659+03 + 42‘;;2203 =6.6 N/mm? 25.5 (=0.85fc")
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11. B 11 GE#hS) (kN-m)

228 B PR JVIARE | FEARARET |
i = HE 7 Q g 7Q T 7Q
BEiAcE ) 15990 1.25 19988 1.00 15990
HILHE (R 5577 1.25 6971 1.00 5577
| ERE (e 18993 1.75 33238 1.30 24691
2 -7 (KA 962 1.20 1154 0
2RI (R1A) 327 1.20 392 0
HEGE (ED) 1048 1.20 1258 0
T rQ 42897 63001 46253
S ERRSREE (SM490Y) Fy= 355,000 KkN/m’
X BEh (AR EE (SD345) Fyr= 350,000 kN/m’
WH)-F DR HEREE (28 R) fc'= 30 N/mm?
Yo /EREEA) Es= 2.00E+08 kN/m’
YoUyEHBE@ysY—-1) Ec= 2.30E+07 kN/m*
YU EEE n=8 (5EHA). 24 (EHD
HqNAFE H= 80: mm
B(mm) X T (mm) A(mD) P (kN)
U-Flg 570 X 23 0.0131 Pc= 4651
Web 2977 X 15 0.0447 Pw= 15869
L-Flg 970 X 53 0.0514 Pt= 18247
Slab 5350 X 300 1.6050 Ps= 40928
Ph =Pc¢+Pw+Pt = 38,766 kN
Ps=0.85f ¢-Bs-Ts=0.85X 30,000 X 1.6050 = 40,928 kN
ps—Crt — 40,928 x 09525 7,162 kN < Ph

ts 0.300
RIMSERIBRAICHY . RRby THS5ORNY BT ERS,

_ Ph \_ (38,766
Y=Ts(—po)= 0.300 ()= 0.284 n
dH= 1.512 + 0.380 — 0.284 = 1.607 m
ﬂﬁ-‘E—)“/ZI\MDCILJ'FtKIéo )
_ Y-ps o 0.284 ?x 7,162
Mp=—ToPS— 4+ Ph-aH T o a00 T 98,766 X 1.607
= 63274 kN-'m
(1) MERFRE | ORE
Mr=¢Mp=1.0X 63274 = 63274 kN-m Z7Q= 63001 kN-m 0.K.
ERREDORM

Dp=Y= 0.284 m

7ZI; — 3.053 + 0.080 + 0.300 _ 0.458 > 0.284

i

y
5

Cro -‘i
l___ -L

T~
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(2) (EFRBRFFIRAE || DIRE
A

B(mm) * T(mm) A(m?) Y (m) A-Y(m®) A=Y (m®)
U-Flg 570 X 23 0.013 1.5000 0.01965 0.029475
Web 2977 X 15 0. 045 0.032980
L-Flg 970 X 53 0. 051 -1.5150 -0.07787 0.117973
p3 0.109 -0. 05822 0. 180428
o1 = TAY/ZA = -0.533 m
I = TAY-TA- 612 = 0.149 p
Yul = 1.512 — -0.533 = 2.045 m
YIl =  1.542 + -0.533 = 1.009 m
BREREL : Sul = 0.149 /  2.045 = T.31E+07 pm’
BREMER :SI1 = 0.149 /  1.009 = 1.48E+08 mm®
ARk GERE)

B(mm) % T(mm) A(m?) Y (m) A-Y(m A-Yi@m* 1o
C-Slab/8 5350 X 300 0.201 1.7415 0. 34934 0.608376 0.001505
Gerder 0.109 -0.5330 -0. 05820 0.180428

b3 0.310 0.29114 0.790309
62 = SAY/ZA = 0.940 m
12 = SAy-ZA- 62 = 0.517 n’
Yu2 = 1.512 — 0.940 = 0.572 m
YI2 = 1.542 + 0.940 = 2.482 m
Yc2 = 0.572 + 0.380 = 0.952 m

BAERE - Su2 =  0.517 / 0.572 = 9.03E+08 mn®

BAEfREL : S12 = 0.517 /  2.482 = 2.08E+08 mm’

BAEMRE :Sc2 =  0.517 /  0.952 #n= 4.34E409 gn®

A% (RIAGTE)

B(mm) * T(mm) A(nd) Y (m) A-Y(m®) A-YimY)  lo(m?)
C-Slab/24 5350 X 300 0.067 1.7415 0.11651 0.202902 0.000502
Gerder 0.109 ~0. 5330 -0. 05822 0.180428

b3 0.176 0.05829 0.383832
63 = ZAy/ZA = 0331 m
13 = TAY-3A- 632 = 0.365 p
Yu3d = 1.512 — 0.331 = 1.181 m
YI3 = 1.542 + 0.331 = 1.873 m
Ye3 =  1.181 + 0.380 = 1.561 m
BREMREL : Su3 =  0.365 / 1.181 = 3.09E+08 mm’
BREfRE : S13 = 0.365 / 1.873 = 1.95E+08 mm’
BRTEN{%% :Sc3 = 0.365 ~  1.561 #n= 5.60E+09 mm®
AISE &3 Li
_ 15990 5577 24691  _ 2 < -
U. FLG ou = 3ot T 3 00er07 T 8. 03er02 = 204 N/mm® = 337 (=0.95Fy)
_  -15990 -5577 -24691  _ 2 _
L.FLG ol = T aser0z T 1 95E402 ‘2“."0@?2‘_”255 N/mm® = 337 (=0.95Fy)
CONCRETE  oc = 556507E7+03 + 42‘;22103 =6.7 N/mm’< 25.5 (=0.85fc’)
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§ 5. ERELDHOKRE

¢ ERIEOERELDARE
FME L <= 10[mn]

10[m] < %fE L <= 40[n]
XEE LY 40[m]

<FEH16G1>
< fdl X&KL [n]
1 80. 0000
2 100. 0000
3 80. 0000
<FEMHiGC2>
3] XL (n]
1 80. 0000
2 100. 0000
3 80. 0000

c=b#Ada =L/ 2000
b Ada =L/ (20000/L)
clEbHAda =L /500
6 d[mm] oL, ¢&almm]
270. 960 88.242 < 160.000
335.679 135.538 < 200.000
270.960 88.242 < 160.000
0 d [mm] oL, 6 almm]
270. 960 88.242 < 160.000
335.679 135.538 < 200. 000
270. 960 88. 242 < 160.000
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§10. HEHEHE

1. BEFE
1) EE%HE
HH SHEERN] RE HE[t]
e i 606. 475 1. 150 697. 446
G- 53.097 1.150 61.062
HTB 22. 755 22. 755
EEM NG 781. 263
XK -— -—
GRS S 0. 000 0. 000
=i 0.000 0. 000
PEAKEE 0.000 0.000
FDfty 0.000 0.000
/8 Fh/ANGt 0.000
=X1i 781. 263
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2) EERAR

frsmiskitis = 0.400 m

<EM>
ME Wi (2] K=ol ME¥ HE)

G1,2

<1

k73522 SM490YB
vxJ SM490YA

[=]

. 01407 13.477 2 2.977
. 04468 13. 477 2 9.455

(=]

T75>2 SM490YB 0.03724 13.477 2 7. 880
<2

t7522 SM490YB 0.02528 12.308 2 4. 885

vx7 SM490YA 0. 04452 12.308 2 8.603

F75>Y SM520C-H 0.07178 12. 308 2 13. 870

+75>T SM490YB 0.02528 12. 308 2 4.885
Dx7 SM490YA 0. 04452 12.308 2 8.603
T2 SM520C-H 0.07178 12.308 2 13. 870

752 SM490YB 0.02556 12.308 2 4.939
W S SM490YA 0. 04446 12. 308 2 8. 591
T752Y SMb20C-H 0.06305 12.308 2 12.183

E752 SM490YB 0.00918 12.308 2 1.774
oz SM490YB 0.06563 12. 308 2 12. 681
T75>Y SM490YB 0.02553 12. 308 2 4.933

+752T SM520C-H 0.06700 12. 308 2 12. 946
A SM490YB 0. 08506 12. 308 2 16. 436
T75>Y SM520C-H 0. 08500 12. 308 2 16. 425

+75> SM5T0-H 0.07300 12. 416 2 14. 230
vz SM570 0.07903 12. 416 2 15. 4056
T752T SM5T0-H 0.09000 12. 416 2 17. 644

Y752 SM520C-H 0.05800 12.500 2 11.383
SM490YB 0.08238 12.500 2 16. 166
T75>Y SM520C-H 0.07500 12. 500 2 14.719

+7522 SMA90YA 0.00675 12.500 2 1. 325
SM490YB 0.06269 12. 500 2 12.302
T75>2 SM490YB 0.02176 12.500 2 4.270

+75>¥ SM490YB 0.01320 12. 500 2 2.591
SM490YA 0.04464 12.500 2 8.1761
T77>2 SM520C-H 0.04704 12.500 2 9.232

L7252 SM490YB 0.01311 10.937 2 2. 261
7 SM490YA 0. 04465 10. 937 2 7.668
T75>Y SM520C-H 0.05141 10. 937 2 8. 828

752 SM490YB 0.01320 12.500 2 2.591

7 SM490YA 0. 04464 12.500 2 8. 761

T75>T SM520C-H 0.04704 12. 500 2 9.232
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ET7752T SMA90YA 0.00675 12. 500 2 1.325
vr7 SM490YB 0.06269 12.500 . 302
T73522 SM490YB 0.02176 12.500 2 4.270

[y]
—
[N

£7522 SM520C-H 0.05800 12.500 2 11. 383
Jx7 SM490YB 0.08238 12. 500 16. 166
T35 SM520C-H 0.07500 12. 500 2 14. 719

[a]

t75>22 SM570-H 0.07300 12.416 2 14. 230
7 SM570 0.07903 12.416 2 15. 405
T735>Y SM570-H 0.09000 12. 416 2 17.544

+7522 SM520C-H 0.06700 12. 308 2 12. 946
vxT SM490YB 0. 08506 12. 308 2 16. 436
T75>2 SM520C-H 0. 08500 12. 308 2 16. 425

E75>2 SM490YB 0.00918 12. 308 2 1.774
Jxr7 SM490YB 0.06563 12. 308 2 12. 681
T75>2Y SM490YB 0.02553 12. 308 2 4.933

+T522 SM490YB 0. 02556 12. 308 2 4.939
vx7 SM490YA 0.04446 12. 308 2 8. 591
T75>2 SM520C-H 0.06305 12. 308 2 12.183

+7522 SM490YB 0.02528 12. 308 2 4. 885
I SM490YA 0. 04452 12. 308 2 8.603
T2 SM520C-H 0.07178 12. 308 2 13. 870

ET7522 SM490YB 0.02528 12.308 2 4. 885
vz SM490YA 0.04452 12.308 2 8.603
T35 SM520C-H 0.07178 12.308 2 13. 870
<21

+75>2 SM490YB 0.01407 13.477 2 2.971
vx7 SM490YA 0.04468 13.477 2 9.455
75> SM490YB 0.03724 13.471 2 7. 880

RSt 606. 475
<K&t >

My WrmfEm2] £=[m] % =EEI[t]

<1
75>2T  $5400 0. 00750 5.500 86  27.848
7 $S400 0.01360 5.500 43  25.249
Kt & Et 53.097

<HTB>
AAER(] RE HE(L]
¥#i4r FI10T  606.475  0.0345 20.923
WiMis FI10T 53.097  0.0345 1.832
HTB&EH 22. 755
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<EKAE>

XA X 77 (kNI ¥
o 7 3430.0 4
WA 10210. 0 4
<Z DB >
BfEE, t/m] X [(n] & HE(t]
fHHHERE T 0. 000 10. 700 2 0. 000
(=1 0. 000 260. 800 2 0. 000
HekiEE 0. 000 13 0. 000
Z DAt 0. 000
3) HREBEENR

Ly s HE(t]

88 MK SM490YB 25 = 76. 936

8 M SM490YA 25 = 113. 096

5 M SMA90YB 38 =t > 25 148.106

M B SM520C t > 50 229.563

8 MR SM570 75 = t > 50 32.729

M HR SM570 38 =t > 20 35. 431

M M SM570t > 175 40. 351

M X SM520C 50 = t > 38 21.234

8 MR SS400 61.062
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Fli

MR ER R
1. B NERE

HH HEEER(t] =% HE(t]

e 688. 315 1.150 791. 562

HEMT 53. 097 1.150 61. 062

HTB 25. 579 25.579

EEH 878. 203

2. LFD(fr B R ERETE)

R HEEE[t] 534 EE([t]

M7 600. 235 1. 150 690. 270

BT 53. 097 1.150 61. 062

HTB 22. 540 22. 540

EERH /R 773. 872

BEL -12%

3. LRFD(FEEf R MEREHE) EdTFRMZI> /OMNGEEL-IBE

HA HEER(t] ¥k HE(t]
FH7 606. 475 1. 150 697. 446
EHT 53. 097 1. 150 61. 062
HTB 22. 755 22. 755
EEHNE 781. 263
SE -11%
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